SH S ey, | (Somed | Choter et

value of - matrix 4
b Let X be a continuous randon
x)=kx(l-x), O0<x<].
P(Xsh):P(Xab}
©  Find abasis for the orthogonal
h}’thﬁ"ﬁctmﬂ:ﬂ,—-

variable with probability density function
Find k and determine the mumber b’ such that

complement of the subspace in R® spanned
1, 3), ¥, =f5,—-—4, -4}, F; =(7,=06, 2)

2
d  Evalpate [—I%E&mngﬁmupper hﬂquﬂwchﬂtH=2
=2

2 3 4

IEA=10 4 2/ find eigen values and eigen veotors: of AZ.3A4T .
00 3 ==
b In a precigion bombing atiach these is a 50% chance that any one bomb will
strike thie target. Two direct hits are required to destroy the target complétely,
How many bmnbsmmhﬁdrnppedmgivnuﬂ%chMuunrbﬁkruf
completely destroying the target.
¢ Find all Taylor and Laurent series expansions for £(z) =

Z
=23
z=1 indicating the region of convergence. ool
Que3. a Three factoties A, B, and C produces 35%, 45% and 20% of the total
production of an item. Out of their production 90%, 50%,and 10% are
defective. Find probabllity that it is produced by factory A

abottt

2 1
b Verify Cayley-Hamilton theorem for A~ | 0 1 0 and hencs find A~!
. 1 1.2
¢ Obtain the equations of the lines of répression for the following duta. Also

in the estimate of X for Y=70.
";mmgsaﬁﬁ?ﬁ?ﬂﬁs:znn

Y 67 68 .65 68 72 n 8 n
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é'simz+mmﬁ
(z—1{=z—-
where Cis [z|=3
Constrict an orthonormal basls of &’ using Gram Schmidt process to
Sh{'[s: nr q]: ("1.. Dl T}I {21 gl ”.}}
» -2 2 =3]
Determiie whether the matrix 4=| 2 1 -6 is diagonalizable, if yes
- _,2 u
disgonilise it,
5 =6 -6
Show that the miatrix A= ;1 "ﬁ 34 is derogatory and find the
L3 =& =
mitimal polynomial of the matrix, =

The weekly wages of 1000 workmen are normally distributed around a mean
of Rs 70 and standard deviation Rs 3. Estimate the number of workers whose
weekly wages will be (1) between 65 and 75 (if) more than 75

x
Find the curve y=f(x) for which f I+y2:£t is minimum

- II

X
subject to the constraint fz 1+y*2d:r=1.
&

it u[z a}shnwtbm .;-w=[

= 300 301

-29&_—3&1}]

Between 2 pm and 4 pm, the averags number of phone calls per minute
mmingluhnﬂwitnhbuudufnﬂnmpmyhlﬁ.F‘mdﬂmpmbﬂbﬂ]wrhn
during one particular minute there will be (f) no phone call at all, (ii) at Jeast
5 calls.

By using Cauchy residue theorem, evaluate
L} & 1r l
"_!:’w ..u' .!5+4m5ﬁ




